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No | L= | MBI Fbgk &= GRS

1 XD ZF | 200m XEUL—=UU— 248 930
2 FXn BF 200m XEFEUL—=U— 2% 938
3 8FMUF (&ZF 100m BAXEL— 288 946
4 8FMURF BF 100m AXEFL— 148 952
5 9FMUE [ &ZF 200m AXEFL— 4% 955
6 9O9FMULE [ BF | 200m AXEFL— 58 1011
7 8FMUR LTF 25m B Ok = 2% 10:31
8 8FUF | BF 2bm B Ok = 1% 10:33
9 O9FMUE | &F 50m B 3k = 6k 10:34
10, O9FUE | BF 50m B 3k = 5% 1043
11 8FUF | &F 50m ¥ ok = 3% 1050
121 8FURN | BF 50m ¥ ok = 3% 1055
13 O9FMUE [ &ZF| 100m ¥ »x & 2% 10:59
14 OFMUE [BF 100m ¥ »x & 5% 11.04
15 8FMUF | &F 25m B B ¥ 2% 1117
16| 8F MUK | BF 256m B 8 ¥ 3fH 11:19
17 9FUE | &ZF 50m B H®H ¥ 13% 1122
18 9FMUE | BF 50m B ®H ¥ 13% 11:39
19 8FMUFKF | &F 50m| I\ D54 188 11:56
20 8FMUF | BF 50m I\ DOS5A 2fH 11:58
21 9FMUE LZF | 100m| /NI DISA 2% 12:01
22 OFME BF  100m NHIS57 | 34 1206
BIAMS 12:13~1315 Blmniurs 1 g 1213
23 OFMUE [ &ZF | 200m H H ¥ 3 13115
24 O9FMUE [ BF | 200m H H ¥ 3% 1327
25 8FUF | &F 50m B 3k = 2% 13:39
26 8FMURN | BF 50m B k= 3FH 1342
27 O9FME [&ZF | 100m B x = 3% 1346
28 9FMUE BF | 100m| B X % 2% 1354

29 8FUF | &F 25m ¥ 3K % Offl -

30| 8FMUF  BF 25m. k= Off |-
31 9FMUE | &F 50m ¥ ok = 7% 1359
32 9FMUE | BF 50m ¥ ok = 6% 14.09
33 8FMUF | &F 50m! B B ¥ 5% 1418
34 8FIMUF  BF 50m B B8 ¥ ofl 1425
35 O9OFMUE [ ZF | 100m H H ¥ 6% 14.33
36 O9FMUE [ BF 100m H H ¥ 7% 14.45

37 8FMUK LF 256m I\ DT S5A Off |-

38 8FIMUF  BF 256m. I\ DT S5A Off |-

39 O9FME | &ZF 50m| I\ D54 588 1459
40 9OFMUE | BF 50m| I\ D54 4%8 1506
41 XD ZF 200m D)=L — 2#8 1512
42 =F=X7N E+ 200m U= — Zﬁ’*ﬂ _15:20]
Bk | P E 15.28)




